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Topic:- Child Development & Pedagogy (CDP)

1) A layperson’s understanding of Reinforcement and Punishment are different from those used in . /| TH AN 3et Ft Tﬁkﬁ MR qUS B GCE
IR U S % ygad gt 21

1. Operant conditioning / foFaIT U 3l (3NTe rerfetan)

2. Sign learning / Tehel 31191 (ATST AAfeia)

3. Classical conditioning / TR el 1ThAT TAUT (FellTerehel heIRrTeiam)
4. Social learning / IR ST (Freret qfm)

Correct Answer :-

« Operant conditioning / foRaT uqd 3-@3‘31?[ (3T FHETerfaam)

2) Separation anxiety is considerably reduced in the child by the age of: / = &t g 3 Tt A tl?;!'?ﬁ TR A ST dl BTW! HH I ATl %:
1. 1-2 years / 1-2a§

2.2-3 years / 2-3a§

3.3-4years / 3-4a9

4. 4-5 years / 4-5 a9

Correct Answer :-

o 3-4years / 3-4T8

3) What do IQ test measure? / IfF afRi(mgay) o Far AT S1aT B2

1. General intelligence / | gigHAT

2. Specific abilities known as S factor / TH HR& & dX W A9 fafre Jear
3. Logical and linguistic intelligence / aifées 3R s gigaar

4. Emotional intelligence / HTdellcaes gRgarem

Correct Answer :-

« General intelligence / AT gigAd

4) Which of the following is not a personality projective method of measurement? / Frafafea @ -0 9 it T Afeaa vard faftr 7 &2
1. Inkblot Test / WTE TyeTor

2. Sentence Completion Test / HTEFHIIUﬁHquTHUT

3. Thematic Apperception Test / fawr ?FLFJIWT T80T

4, Physical Test / QMIRes gi&ToT

Correct Answer :-

« Physical Test / QMY T1&T0T

5) Which of the following is NOT a learning theory? / Fafif@a & @ #19-91 & SifnmH &1 Ricgia 781 82
1. Conceptualism / THIITATE,

2. Behaviorism / <IdgRdIqg



3. Cognitivism / HATATCHSATE

4. Constructivism / {deTcHDATIG
Correct Answer :-

« Conceptualism / EHIITATE

6) Students should be engaged in the process of learning as a that relates subject matter to problem-solving skills. / BT &1 AT P uftear &
F EU H TG99 ST AT S FORAT-JATH F B & fwg 3 Tafta g1

1. communication experience/ TaR T AT
2. contextualized experience/ WTHTIER AgHT
3. task experience/ Gop AT

4. collaboration experience/ HEAIT T AT

Correct Answer :-
« contextualized experience/ UTHTIEHR AHT

7) Choose the theorist whose theory talks about teaching machines and a programmed learning system. / 39 frgiaeR &1 97 $3 e Rigia Rreor
IS 3R FIoAT TR yoeht & Wae & g |

1. W. Kohler / maﬂw

2. B. F. Skinner /dT.T% &haT
3. Pavlov / OTdelld

4. E. Erikson /3 .TR&FHA

Correct Answer :-
« B.F. Skinner /&T.U% RBaet

8) Creativity characteristics is: / avmﬂ?r ﬁ'!ﬂ'ﬂ?l'l'q %:
1. Photographic memory / LA F{ﬁ!
2. Divergent thinking / et &

3. Introvert / 3-1?1'%'@'
4. Fast learning / frgr 31fQarer

Correct Answer :-
« Divergent thinking / e &=

9) The inclusion of children with disabilities in classroom is now a worldwide trend. / BET ¥ fapai =) &) Wi $31 3 T faayaardt
EEGER]

1. Special / fafdre

2. Mobile school / arfaefrer faramerr &r
3. Regular / Fafda

4, Flip / et

Correct Answer :-

« Regular/ @afda

10) The development stage in Erik Erikson’s theory which occurs from 1 to 3 years is / TR® tRea & Rigia & e wur st 1 @ 3 af ao
Faw®__ ®

1. Identify vs. identify diffusion / g dH YAR Pt UgaH

2. Autonomy vs. shame / TATIIAT TS T



3. Trust vs. mistrust / T4 I8 3faama

4, Initiative vs. guilt/ UgeT TATH 3TURTY &S

Correct Answer :-
e Autonomy vs. shame / TITIAAT dATH N

11) According to the Psychosexual Developmental Theory, the basic instincts are found in the . | TR e Rigia & guR, I@ vgfar
#urd et 71

1. Unconscious / 3/adel
2. Conscious / A=
3. Subconscious / addel

4. Superconscious / T Tdel

Correct Answer :-

« Unconscious / 3/ade

12) Cognitive development does not study

1. Problem solving / GFEAT faaror

2. Memory / Tffd

3. Language / #TST

4. Relationships / feaf

Correct Answer :-

« Relationships / Rt

13) The importance of play in education was mentioned by _ . / 0T & @ & #Aiged N _____ @RI 3eaiQd AT 4T 4TI
1. John Locke/ S ik

2. Aristotle / 3R&]

3. Plato / Teler

4. Socrates / HbId

Correct Answer :-

* Aristotle / 3REJ

14) Affective domain of learning is characterized by _____ aspect of our behaviour. / AT T YT 98T §AR SUGER & gl GanT
afeta g ®1

1. learning / TR

2. Feeling / 34%[9{%

3. Thinking / fJIaR &=

4. Doing / & &l
Correct Answer :-

« Feeling / 3197

15) ICT can increase in inclusive education. / GATALM Rraw & nshidh ST Fhdl B
1. all of these / IR gt

2. Access only / hdel Cliir



3. Equity only / hael FATAT
4. Efficiency only / hdel G&TcT

Correct Answer :-

o all of these / IR it

16) What is the term used to denote the organized bodies of information that affect how we store, interpret and process new information? / =T & wafsa

Rl #1 e = § [T FE asg F1 370 A S @ S AR A gIAr & 69, Saredn AR 9fRAr S vafad e 82
1. Seriation / heTagal

2. Stressors / delTdd

3. Schemas / woaT (FHT)

4. Semantics / UeET

Correct Answer :-

e Schemas / ¥q@r (ThHraT)

17) What is the term that is used to denote the process of retrieving a specific item of information from memory? / fha ersg FT 39T P{ﬁl‘ a =T &
TF 3T MESeH F UIcd FI FT IHRAT Y [AERT W F AT fFar sar 22

1. Recognition / aR=Te

2. Retrieval cue / gﬂm Tehd

3. Recall / TeTEATOT

4. Restructuring / EJF!TTB?

Correct Answer :-

¢ Recall / Uegm&dAoT

18) What is a characteristic of a child suffering from ADHD? / Tdivgst & fifq a= &1 oa7or F47 ghar 82
1. Motor problems / Ui FaEaATd

2. Speech deficits / dreled & FHEAT

3. Intellectual disability / @ifge faemerorar

4. Inattention / AdYUTA

Correct Answer :-
o Inattention / YT

19) What kind of personality trait is most commonly associated with being outgoing? /

amseangar (fPrieh) & fre avE #1 e T FEIAE T § ARG 3T I 87
1. Extraversion / afea@dT
2. Introversion / 3-1?133'@?!1

3. Depression / 37ddIG

4, Neuroticism / HArcaTfAdT

Correct Answer :-

« Extraversion / Eﬂ%?i’@?—ﬁ

20) What is 16PF (Raymond Cattell’s)? / (3#Z Hea T )16PF FaT1 &2
1. 16 Perfectionism factors / 16 QuidTarg HRE

2. 16 Personality failures / 16 cafhardr 3rawerar



3. 16 Personality factors / 16 TRhATE! HRD
4. 16 Personal facts / 16 SfaaiTd a&

Correct Answer :-

« 16 Personality factors / 16 <afhardl dRE

21) To develop critical thinking among children, the teacher should give the students a lot of : / Toat & H?ﬁ"{ui' i el F&3 & v, Rars & sE
At & =few

1. Lectures/ <IT&Te

2. Assignments / U&d B (3TATS9T)
3. Notes / feoaforr

4. Tmpositions / ITERTOT

Correct Answer :-

« Assignments / Ugd HE (IATSAHAT)

22) Sternberg’s components of intelligence did not include : / ¥eoiadt & FEftr & geat # foeer anfArer 7@t am:

1. Analytical intelligence / fa&woTeHe® e

2. Fluid intelligence / &d 3@ eg (Fofg Seforeid)

3. Creative intelligence / TelcHd gfa

4. Practical intelligence / TERING g

Correct Answer :-

« Fluid intelligence / & 3THIA oG (Folg Seforord)

23) How can a teacher practice intrinsic motivation in the classroom? / T a7 &8 & Al WO FT I F FIA THaT &2

1. Set class policies and rules to control the class discipline. / & & ARmHA w ffa wa & ow sen Hifawr ik fge AuiRa aws)
2. Set high goals and make them practice to achieve high grades./ 3T o1& fAuIRa &F 3R 3% 359 I U@ WS F T 3T
3. Allow students to choose their tasks and work by themselves. / BTAT @Y 370 PTAT BT TIT IR 3R TAA: BH B A Hﬂﬂﬁ |

4. Allow students to make choices and hold them accountable for the consequences of their choices. / B 3 P gEdIET RAFey ga= 3R W 3 ue & gRomet
& forw Samade T 3gAfT dal

Correct Answer :-

« Allow students to make choices and hold them accountable for the consequences of their choices. / & 37 P g ey gae 3K ﬁ 3T UHE & gRomaAt
& U SarEde @ 1 3gAfd S|

24) Through which mental activity is available information transformed to conclusion. / & A afaRf F Aeaw ¥ 3uasy T=FR F fwd #
FEiaRa BT ST ¥

1. Thinking / &=
2. Problem solving / THaEAT AT
3. Reasoning / d&®

4, Motivation / SRoT

Correct Answer :-
 Reasoning / d&

25) Which part of the memory is the clothes you wore on your wedding day stored? / T &1 FIT-8T ST 3% @RI AT F /T Tg=r 7T FI3 A TfA F
I Far §?

1. Autobiographical memory / TcHGATCHD FTHfA



2. Declarative memory / ENWOTcHS T

3. Procedural memory / UfhaTcHs T

4. Participative memory / HgHl T

Correct Answer :-

« Autobiographical memory / 3TcHadTcHA® FHfa

26) Which of the following hinders learning the most? / fAFafari@a # ¥ T 999 AR Hf0eeT FH T Srerar @2
1. Competition/ Ffafarar

2. Noise/ 2R

3. Boredom/ 3&T&T

4. Fatigue/ Ul

Correct Answer :-

« Boredom/ 3&/ &Y

27) Which of the following is a secondary sexual characteristic that develops in females during puberty? / Fafaf@a & & sla-dt vs ator 2l fadwar &, s
Flaer & el aRenst F REfT o 2

1. Development of the ovaries / 331 &l faemra
2. Menarche / TSed=
3. Growth of body hair / RR & drell & T&aAT

4. Deepening of voice / 3TdTST &1 IEIT &l

Correct Answer :-
» Growth of body hair / SRR & dTell & g&ar

28) Which of the following is a parenting style characterized by low warmth and high control? / % & & Fla-#Y grera-uiyor it 30w scmE 3k =
AT i fFwar 22

1. Permissive parenting style / 3fcJ<TTcd<h qreraT-gryoT el

2. Authoritative parenting style / 3R GTerT-grwor el
3. Authoritarian parenting style / 3TTHRAET UTel-gryoT el
4. Aggressive parenting style / 3TTehTod UTeld-GIYoT el

Correct Answer :-

« Authoritarian parenting style / 3ifQeRarcT grela-uyor elt

29) The famous physiologist who introduced the concept of reinforcement and was the first to apply psychological principles to the area of learning. / 9% uﬁa}:
RR-FF R (Refoieifone) Seeia yaes (WwRidAe) it sauron swafda 6 sk sifteer & & & adefas Ryl # any F& aor wd afFa &

1. Edward Thorndike / Tsds$ UsEH
2. Wolfgang Kohler / aYewdlaT digerk
3. Jean Piaget / il famey

4, Tan Pavlov / 3aiel Urdelia

Correct Answer :-

« Edward Thorndike / Tsds UTisrsd

30) Which of the following is NOT a form of misconception? / efaf@a & & F41 araa yrom =gt &2

1. Non-scientific beliefs / 3Tl FAT=IATT



2. Cognitive conflicted ideas / HeTATcHd WER faredr AR
3. Preconceived notions/q@m’lﬁ GEIR

4. Vernacular misconceptions / FTGHTST fr2=m E_{%

Correct Answer :-
« Cognitive conflicted ideas / HTATCHD WREWR ORI AR

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:
The memor-- of child-- days are amazing!

1. --ren ... --ish

2. -ial ... -hoods

3. --ies ... --hood

4, -y ...--ren

Correct Answer :-

2) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the toothbrush have been in existence since 3000 BC. Ancient
civilizations used a "chew stick," which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle toothbrush,
similar to the type used today, was not invented until 1498 in China. The bristles were actually the stiff, coarse hairs taken from the back of a hog's neck
and attached to handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The first nylon toothbrush was called Doctor West's
Miracle Toothbrush. Later, Americans were influenced by the disciplined hygiene habits of soldiers from World War II. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

Why were early toothbrushes most likely called "chew sticks"?
1. Because people chewed on them to help clean the teeth

2. Because people chewed them after using them

3. Because they tasted better when chewed

4. Because they were chewed on by animals

Correct Answer :-
« Because people chewed on them to help clean the teeth

3) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the toothbrush have been in existence since 3000 BC. Ancient
civilizations used a "chew stick," which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle toothbrush,
similar to the type used today, was not invented until 1498 in China. The bristles were actually the stiff, coarse hairs taken from the back of a hog's neck
and attached to handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The first nylon toothbrush was called Doctor West's
Miracle Toothbrush. Later, Americans were influenced by the disciplined hygiene habits of soldiers from World War II. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

Which statement best explains the author's view of early forms of the toothbrush?
1. They weren't very hygienic

2. They helped keep teeth clean



3. They cost little to make

4. They were extremely innovative

Correct Answer :-
o They weren't very hygienic

4) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the toothbrush have been in existence since 3000 BC. Ancient
civilizations used a "chew stick," which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle toothbrush,
similar to the type used today, was not invented until 1498 in China. The bristles were actually the stiff, coarse hairs taken from the back of a hog's neck
and attached to handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The first nylon toothbrush was called Doctor West's
Miracle Toothbrush. Later, Americans were influenced by the disciplined hygiene habits of soldiers from World War II. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

What can you infer about the nylon toothbrush?
1. It originally used animal hairs.

2. It worked better than any toothbrush before it.

3. It was very popular when it was invented.

4. It was cheaper than previous toothbrushes.
Correct Answer :-

« It worked better than any toothbrush before it.

5) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the toothbrush have been in existence since 3000 BC. Ancient
civilizations used a "chew stick," which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle toothbrush,
similar to the type used today, was not invented until 1498 in China. The bristles were actually the stiff, coarse hairs taken from the back of a hog's neck
and attached to handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The first nylon toothbrush was called Doctor West's

Miracle Toothbrush. Later, Americans were influenced by the disciplined hygiene habits of soldiers from World War II. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

Based on the passage, what is the meaning of the word bristle?
1. An animal hair used to make a brush

2. A part of a hog

3. The stem of a toothbrush

4. A special toothbrush

Correct Answer :-

¢ An animal hair used to make a brush

6) Fill in the blank with the correct option in the given sentence:

Hundred grams is also known as --gram.
1. hecto--
2. deca--
3. centi --

4. cento --



Correct Answer :-
« hecto--

7) Choose the appropriate synonym for the highlighted word in the given sentence.

The rich should not despise the poor.
1. Find fault

2. Punish

3. Criticize

4. Loathe

Correct Answer :-

o Loathe

8) Which of the following options best combines the given sentences?

She is the girl. She is intelligent. She is hard working.

1. She is the girl whose not only intelligent but also hard working.
2. She is the girl who's intelligent but also hard working.

3. She is the girl who is not only intelligent but also hard working.
4, She is the intelligent and hard worked girl.

Correct Answer :-

« She is the girl who is not only intelligent but also hard working.

9) Choose appropriate articles for the given sentence:

__ blowoutis _____ oil well accident.

1. No article required ... No article required
2. No article required ... No article required
3.The..a

4.A..an

Correct Answer :-

« A..an

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
We have finished approximately half of the report.

1. Half of the report approximately have been finished by us.

2. Approximately, half of the report has been finished (by us).

3. Approximately, half of the reports have been finished.

4. Approximately, we have finished half of the report.

Correct Answer :-
« Approximately, half of the report has been finished (by us).

11) Choose the appropriate option to convert the given sentence from direct speech to indirect speech.



He said, “I will finish this work tomorrow.”

1. He told that he would finish that work tomorrow.

2. He was confident of finishing that work that day.

3. He said that he would finish that work the following day.

4. He expressed his willingness to finish the work the next day.

Correct Answer :-

¢ He said that he would finish that work the following day.

12) Choose the appropriate option to complete the given sentence:

I didn't have trouble getting the passport.
1. several

2. any

3.no

4. much

Correct Answer :-

13) Choose the appropriate tenses to fill in the blanks in the given sentence :

I____ notable to enjoy my trip to the hill stationasI____ fever and ___ to take rest.
1. am, have, was

2. will, have, are

3. was, had, had

4. did, have, were

Correct Answer :-

« was, had, had

14) Choose the appropriate antonym for the highlighted word in the given sentence.

I have to hide my head in shame and admit that I lied to my best friend.
1. Conceal

2. Reveal

3. Outburst

4. Camouflage

Correct Answer :-

« Reveal

15) Choose the appropriate conjunction for the given sentence.

I do not know he will come home today not.

1. both....and



2. whether.... or

3. neither.... nor

4. Not only.... but also
Correct Answer :-

« whether.... or

16) Choose an appropriate modal for the given sentence:

When I was much younger, I walk long distances.
1. could

2. will

3. may

4. can

Correct Answer :-
« could

17) Choose the option that best explains the highlighted expression:

The public opinion was that some insiders had a hand in the bank robbery.
1. to have a share

2. had finger prints

3. knew the outsiders

4. to be involved

Correct Answer :-
« to be involved

18) Read the sentence carefully and choose the option that has an error in it:

The prisoner do not like to be punished.
1. do not like

2. to be punished.

3. The prisoner

4. No error

Correct Answer :-

« do not like

19) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games under their belt and that means that the Inside the NBA team
of Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their studio
in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden
State Warriors on Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-known names, as
well as some lesser-heralded players, making slightly less than spectacular plays.

What is Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson back at doing this season?



1. Following the match between Milwaukee Bucks and the Golden State Warriors
2. Treating their fans to their studio in Atlanta
3. Backing NBA league’s 30 teams during the 2018-19 season

4. Providing basketball fans with hilarious moments

Correct Answer :-
« Providing basketball fans with hilarious moments

20) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games under their belt and that means that the Inside the NBA team
of Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their studio
in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden
State Warriors on Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-known names, as
well as some lesser-heralded players, making slightly less than spectacular plays.

‘What is the name of the TV show based on basketball mentioned in the passage?
1. Atlanta

2. Milwaukee Bucks

3. NBA regular season

4. Inside the NBA

Correct Answer :-
o Inside the NBA

21) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games under their belt and that means that the Inside the NBA team
of Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their studio
in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden
State Warriors on Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-known names, as
well as some lesser-heralded players, making slightly less than spectacular plays.

‘What does the phrase “season is off and running” imply?
1. The NBA basketball season is postponed

2. The NBA basketball season is due next year

3. The NBA basketball season is cancelled

4. The NBA basketball season is ongoing

Correct Answer :-
o The NBA basketball season is ongoing

22) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games under their belt and that means that the Inside the NBA team
of Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their studio
in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden
State Warriors on Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-known names, as
well as some lesser-heralded players, making slightly less than spectacular plays.

According the passage, the studio is located in

1. Atlanta



2. Golden State

3. China

4. Japan

Correct Answer :-

« Atlanta

23) Choose the right tag:

You just can’t get on with your friends, ?

1. could you

2. couldn’t you

3. canyou

4. do you

Correct Answer :-
« canyou

24) Choose the correct option to fill in the blank in the given sentence:

Our city will have ____ university soon.
1. the

2. an

3. no article

4. a

Correct Answer :-

25) Choose the appropriate tense to fill in the blank in the given sentence:

Have you heard the news on flood?

Yes, I have. I it just 10 minutes back.
1. will hear

2. heard

3. am hearing

4. has heard

Correct Answer :-

e heard

26) Choose the appropriate preposition for the given sentence:

A simple bed felt luxurious a weeklong trip.
1. after

2. with



3. for

4. 0n

Correct Answer :-
« after

27) Choose the most suitable pronoun for the given sentence:

Ms. Sandra decides _____ students’ grades accordingto _____ test score.
1. his ... her

2. their ... her

3. her ... her

4. her ... their

Correct Answer :-

« her ... their

28) Fill in the blank to complete the given sentence:

When you arrive at the place you __ by our men. They will take you to the exact place.
1. will meet

2. are met

3. will be met

4. will have met

Correct Answer :-

e will be met

29) Choose the option that substitutes the given phrase appropriately.
Long and complicated series of events

1. Saga

2. Historical

3. Poignancy

4. Legend

Correct Answer :-

« Saga

30) Choose the right tag:

-

He didn't recognize me,
1.doesn't he

2.isn't he

3.isn't it

4. did he



Correct Answer :-
. did he

Topic:- General Sanskrit(L2GS)

1) .
eellnl gfdcar srenfafescey yeaey TGHACH AT -

Id: TUETIRST FALITTEREHA |

PROUT FheedEd & # fasoy: geiied i
AT AfATEAY AT Y FoTF-I6H |

dy dsa=gar #fFd: egared dear &

ﬁ?{aﬁaﬁﬂﬁ?

4.

Correct Answer :-



9allenl gfocar srafAafeseeg yoaey ‘{_l;gagcdi qad -

facar sitorrll FeregEsd faear J&om 1%: |
facar seeett fadeem e facar wr gaar
facar o gead 7 J o+ facar fager: ur: i
T tﬁﬂﬁ?ﬂﬂﬁ?’f R @ o=
?Jaaq'c‘li‘q’%aﬁ—aﬁrammﬂu
dferaAMie @ T FART Iq

TAd, 3T SR guaehdl oefed |

Feg fgafAcald &ead ?

al



eellehl gfScar srenfafdscey weaed YgHc Faad -

facar sl FeregEsd faear J&om %: |
faear seyetet faeemTae faear wr gadr
facar o gead 7 J o+ faear fagr: g
H:Wiﬁmﬂﬁ

Ig A RdfATsfa dehead |
dferaaMic g@ T FAfRT g

Tdd, I S quaShdl ofefed |l

3 YeGeeITed fhe ?



voliehl afScar sreNfAféseed v Ygaccl Faad -

facar siorenll TegEell faeam ar&oT % |
facar sweeter fagemETae faear wr gadr
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Correct Answer :-

Topic:- Social Science (SSC)

1) FERA stands for ./ T ib‘HIUf?ﬂr %I

1. Fraud Enforcement and Regulation Act / @4 yada 3R fafagaa sfafaws

2. Food and Environment Research Administration / @& 3R UaifeRor 31qaare gemas
3. Federal Emergency Relief Agency / Hatel $FIeET Rell® Toid!

4. Foreign Exchange Regulation Act / fagelt ag1 fafaasa sfdfags

Correct Answer :-

« Foreign Exchange Regulation Act / fagel a1 fafaese sifafaaes

2) “Teaching History, Geography, Civics and Economics, etc. as separate subjects - only imparts miscellaneous and unrelated information”, was said by:-
/ "sfaem, e, AnTie URd SR SrdRIRe 3nfe B SrenT-3renT fawal & U ¥ e Fad fAfay iR sRiERE SHER M ST 8", Y gRY Fer W or: -

1. Secondary Education Commission / #HIeIfe & 3mawer

2. NCF 2005 / TeHIT® 2005

3. NPE 1986 / Tad$ 1986

4, Kothari Commission / @ISRT 33T

Correct Answer :-
 Secondary Education Commission / #Tegfares & 3marer

3) Aset of interrelated statements elaborating a learning material being taught is known as the skill of:
/ UeTH! W arelt Rigror anwf 31 g B 38T WER Gt $YAT BT U e i 1 Bivra seardl 8

1. Explaining / TfUTG &1 GHRSAT AT

2. Demonstrating / TERH B BT

3. Questioning / T T T

4. Lecturing / <areard

Correct Answer :-

« Explaining / UfcdTe a1 SARSAT HRAT

4) Which following is the correct statement? / fFPrafafaa & ¥ 919 91 Fy= 96 82

i. Akbar founded his own religion known as ‘Din-i-ilahi’. / 3B A “#{-E—S?n'é’f" & T F AT o wiTfie e

ii. Akbar defeated Rana Pratap in the Battle of Haldighati in the year 1576. / 3[®aR 3 99 1576 W gwuTd! & g5 A 0T WaTT Y gl
iii. Tansen was the greatest musician of Akbar’s court. / GIEGER L kg AR > qad He™ Ffider Ai

1. i only / &l ii

2.ionly / &ae i

3. All are correct. / T @l ¥l

4. iii only / &ad iii

Correct Answer :-

« Allare correct. / T3t T B



5) Which King was the author of Ratnawali, Nagananda, Priyadarsika?
/ DI A A I, AT, e iRier & daw 32

1. Ashoka / 37N

2. Chandragupta II / <igag II

3. Harsha / &

4. Samudragupta / HHGIT

Correct Answer :-

o Harsha / &

6) Which Article of the Constitution states that, “The state shall take steps to organize village panchayats and endow them with such powers and
authority as may be necessary to enable them to function as units of self-government”? /

TRUF F P9 e # we1 T4 § 1, “Usu I TurHl #) SHafid B39 $ R Feu SoTd! ok 3T Wt widmai ok R ye #3 wil 3= W Bt 3H1sal
F w0 A Frf He H W 991 & fIQ srazas g2

Correct Answer :-

« 40

7) Which one is the text not written by Abul FazI? / I8 ®1 |1 4Y § S 3/gd Hod A 78! foran 82
1. Akbar Nama / 37ehaX =TT

2. Ruqaat / %I

3. Tabagqat-i-Akbari / d&Td-T-3Tehedy

4. Insha-i-Abw’l Fazl / $1-U-31qel ®olel

Correct Answer :-

« Tabaqat-i-Akbari / dEHIT-T-37hay

8) Which among the following is the correct location of the Tropical Forest Research Institute (TFRI)? /
Prafifad § @ S 91 SUreRadra a7 STHUT T (TFRI) BT T& W 87?

1. Bhopal / #rarer

2. Jodhpur / Sraqr

3. Jabalpur / STgergy

4. Dehradun / 2gtreet

Correct Answer :-

« Jabalpur / SIgerqR



Match the following Neolithic site:

1. Daojali Hading | A.Baluchistan
2. Mundigak B. Bihar
3. Rana Ghundai | C. North kachhar hills Assam
4. Chirand D. Afghanistan
| TFaTelfE@d AaqmameT Tuet &1 fFe= 1
1. gr3feTelr gfEa A Fofferedre
2. HSEMH B. T8N
3. oW g% C. 3R HOR Jgii=ar
HAH
4. e D. AEaTeearT

1. 1-B,2-C,3-D4-A

2. 1-B,2-A,3-C,4-D

3.1-A,2-D,3-C,4-B

4.1-C.2-D,3-A4-B

Correct Answer :-

« 1-C,2-D,3-A,4-B

10) Which of the following country is not considered a rigid constitution? /
frfaf@a & ¥ 59 qr F ve FoR w@RuE & AT T §2
1. Australia / 3iregforr

2. Britain / fsea

3. Switzerland / RaesRes

4. USA / 3dRar

Correct Answer :-

« Britain / e

11) The most staggering problem in our educational system on an all India basis is: /
Trguf YR & SMTUR TR AR e yomeht & wa arftres e 37 areft woa @:

1. Lack of funds / %5 &1 el

2. Lack of schools / ¥l &1 T

3. Drop outs / /d 3m3¢

4. Stagnation / eaToIdT

Correct Answer :-
« Drop outs / 31T 3m3¢

12) The study of the origin and development of human being and their culture is known as:

/ IS B SR SR b iR ST GpfA S JeagaH __ P wrEar gl
1. Archaeology / XTdcd

2. Sociology / THTSIRITE

3. Anthropology / ATAGRIE T fa=ied

4. History / sfaer

Correct Answer :-

« Anthropology / HIAGRIE T Ffa=ied



13) The main purpose of criterion-reference evaluation is: / TTH¢S-TgY Geai® $1 T-I I H

1. Determination of ranking of the student / &1 & wa1/¥& @1 fAURoOT
2. Assessment based on predetermined objectives / g fAuTRa 3223t & IMUR W 3ol
3. Assessment of attainment of group performance / HIg Uelled & UIfH &1 3Thered

4. Assessment of the skill performance of an individual / =afth & @irer e &1 3Mhera

Correct Answer :-

« Assessment based on predetermined objectives / gF fA4IRa 33241 & MUR WX 3iTher

14) Classical pattern of education is called ./ Rem F EIs et &Y FeT ST &
1. Trivium / EfaTa®

2. Rhetoric / @TfecT &

3. Quadrivium / ell-IJscT

4. Dialetic / EgTcH® ddhugia

Correct Answer :-

« Trivium / faT&d

15) Who among the following is the author of ‘Politics’? / Fafaf@a & ¥ sla iRt & Jas 2
1. Rousseau / &4t

2. Plato / Terer

3. Aristotle / 3RE]

4. Socrates / gl

Correct Answer :-

« Aristotle / 3RE

16) Who is known for initiating electoral reforms in India to ensure free and fair elections? /
Taed 3R fvaar g gRRed w6 &g R F A gUR OF w9 F e ST S s §2

1. N. Gopalaswami / T, JMdTerearsit

2. T. N. Seshan / &. ta. Qwa

3. S. Y. Quraishi / vH. @, i

4. M. S. Gill / t#. Tg. @

Correct Answer :-

o T.N. Seshan /& wa. qwa

17) According to Seligman ‘Geography’ is included in: / @fewmler & e "spia’ foear & eanforer &
1. Semi social science / 31 @TAITSH fa<rme

2. Social studies / AMAIS HEIIT

3. Pure social science / g HHATSD Ta=ired

4. Science with social implication / @ISR dIcqd geh [EEICH

Correct Answer :-

« Science with social implication / #faF aewd J& fa=a



18) The social and co-operative expression of thoughts and ideas in the class, which is concerned as a miniature society and shared environment,
this method is known as:

/ we # frEnt 3wt f annfow i weedt sfcafEa, St ve oy weer sk wEn TR & w0 A wafta §, 3w R swer &
1. Problem solving method / FEam FaTa fafa

2. Project method / ufisrar fafar

3. Socialized recitation method / FHTlipd &S 3mghy A/ Fagpa ae [_fy

4. Discussion method / uR=raf fafey

Correct Answer :-

- Socialized recitation method / FATSIpa Hif&ew 3mgfr fY/ Fagpa ue fafy
19) The concept of Public Interest Litigation (PIL) was introducedby ./
Safea T (famsee) #r JgUROT _ Z@RT 4% H A5 o

1. Justice Sarv Mittra Sikri / mgafd @9 &3 Fedr

2. Justice P.N. Bhagwati / =mgaifd . v, sarach

3. Justice H. J. Kania / =mafd va. 1. wfaar

4. Justice Sudhi Ranjan Das / =ma#fd g4 & g

Correct Answer :-

« Justice P.N. Bhagwati / =amgaffd . . $oradt

20) The technique which is often used by all teachers for transacting skills, ideas, attitude and processes among students is called as .
ol # s, FEwi, tRewior s afFast &1 a9 w1 & Pw s w3t Raet @rr sgahr & J= gl aFs @ g ST gl

1. Activity-based teaching / TIfafafer smemfea fRigror

2. Projective technique / W&TdT dheiich

3. Lecturing / =area=

4. Demonstration / U2l

Correct Answer :-
« Demonstration / Y&l

21) Which of the following is the technique of collecting all the necessary information about a child with a view to studying and solving his deep-
rooted problem? / RFATATRAT & @ i v aed A Ted THEAT FT HETIT FI T 3X §F WA B TR ¥ 3qF I A g rEeTAF AR
THT F AT aFeE §?

1. Experimental study / UTaIfIe ez

2. Case study / &H €3

3. Qualitative study / IUTIcHAR HEIIA

4. Quasi experimental study / 3 JATcHAS AHCTIS

Correct Answer :-

- Case study / &»H T2

22) Which among the following is not a function of evaluation? / Meafaf@a & ¥ =l w1 FAeaiFa &1 vF F& 7 §?

1. It helps to study the entry behaviour of the children in all aspects. / T& THT Tec]3i 3 I=al & YA TTAER &I HIIA I H AGg BT &l
2. It helps to undertake special instructional programs. / I& 31@?{? cHD IR REY A H FAcE T B

3. It helps to assess different educational practices. / I faffiea A& 19=a1AT &1 3Pl A H FAGE PAT Tl



4. Tt does not provide for individualization of instruction. / Tg fAEYU & dufhaor & T e A8 Har &1

Correct Answer :-

« It does not provide for individualization of instruction. / J& e & dufhaor & fIT U ¢ T &l
23) Which among the following models of teaching belongs to Social Interaction Family?

| ReTor F PERfRd gfaeEt § ¥ Fia amee ggenfar IRaR @ @6l 82

1. Concept attainment model / Theuar wifd ufdama

2. Jurisprudential model / =19 M& YA

3. Non-directive teaching model / 31f&RIa Retor ufdenar

4. Advanced organizer model / 3e<Td 3TATster UfaeTa

Correct Answer :-

« Jurisprudential model / =131 em& Ui

24) What is the full form of SEZ? / &5 (SEZ) & qof &7 Fa1 8?2
1. Special Education Zone / faIy A& &7 (FAAST TFHAA Hel)

2. Special Economic Zone / T 31 &7 (FIAST ShiAHD i)
3. Special Equity Zone / faw sfFadr a3 (¥aerer sfaadt she)

4, Special Equal Zone / fa9w @a &7 (¥ULA Fdel i)

Correct Answer :-

« Special Economic Zone / fa9w 3nfde & (FUST shIafAe SieT)
25) Under whose rule Turkan-i-Chihalgani was introduced?

| THA-T-TgAE FrEd AT & ded g Y a§ oA

1. Titutmish / qaferT
2. Razia Sultan / X o e

3. Balban / defed

4. Qutub ud din / T 3¢ &

Correct Answer :-

o Iltutmish / W&M

26) Which Vijayanagar ruler adopted the title of 'Gajabetekara (the elephant hunter)'?
| P RS aEF JF TeaeH] (B1ET 1 R’ A 3w awor Hi?

1. Bukka / garept

2. DevaRayal / g T3 1

3. DevaRayall / &a T 11

4. Krishna Dev Raya / 0T &a I

Correct Answer :-

o DevaRayall / ¢a I II

27) Which of the following is found in the earth’s core? / Bo s # & qeft & FR (Fdw smer) & F41 w7y §2
1. Magnesium / #veiifrzrer

2. Ferrous / yd



3. Silica / T&forer
4. Aluminum / Tephfaat

Correct Answer :-

o Ferrous / &

28) Which of the following paradigm followed the Quantitative revolution in the evolution of geographical though? /
Frafafea & & e aloew & stifos Rew & AmEes Fifa &1 e

1. Regional Analysis / &3 fagwor

2. Areal differentiation / &7 AAEreRoT

3. Post Modernism / 3@ HTHﬁ”clﬂ'l?ﬂ'q’

4. Exploration and description / 3=awoT 3R farexor

Correct Answer :-

+ Post Modernism / 3tR 3YfAedrarg

29) Which ruler was the first to defeat Muhammad Ghori?
| FgFHE AR F WIS HIA TTeT Tgell AHH HleT a1?

1. Prithviraj Chauhan Il / gdRTSr diee i

2. Prithviraj Chauhan I1 / gedRTer diee fgd™

3. Prithviraj Chauhan I / Q@R dige 1

4. Jaichand / STgde<

Correct Answer :-

e Jaichand / S¥dec

30) Which ruler introduced the price reforms in the market? / 58 & o aOX & FeT GURT A qwana H?
1. Allauddin Khilji / 3rems8= e

2. Firoz Shah Tughlaq / TS oM gareres

3. Mohammad Bin Tughlaq / #igF#e & Jarereh

4. Balban / dolae

Correct Answer :-

o Allauddin Khilji / 3remsga f&ersit

31) Which animal is engraved on Harappan seals? / §3caT #1 3gd W fore Seraw &1 3chiot fear arm 82
1. Goat / g&U

2. Horse / ®ar

3. Unicorn/ A9 (FfAehier)

4. Cow / M

Correct Answer :-

« Unicorn/ &AM (FfAehieT)

32) Which Constitutional Amendment introduced Right to Education as a Fundamental Right? /
e wdufas walve & e & sfter  AltF JRFR F v & v R

1. 88t



2. 84t

3. 86"

4. 81%

Correct Answer :-

. 86[11

33) Which text is not written by Kalidasa? / Fifaera & ®la @1 7y i for@m €2

1. Meghadutam / #aggs
2. Malvikagnimitram / ATIaRIaeT AT,

3. Mrichchakatika / HTSd s
4. Shakuntalam / QATgcTerd

Correct Answer :-

+ Mrichchakatika / HeohieHH

34) NABARD was introduced in ./ AT & Tfa fFar o= an

1. 1972
2. 1982
3. 1988

4. 1990

Correct Answer :-
« 1982

35) _ Government has the power to legislate on ‘residuary’ subjects. /
R F 99 'Iafiee’ {wat w Fee o= fr afEa g

1. Local / ¥R

2. Unitary / T

3. Union / €9

4. State / s

Correct Answer :-

« Union /&g

36) __is an institutional mechanism to provide representation to the states of India. /
_ UF TN a7 § S oRa ¥ Usal # yfafed ygre war #
1. Rajya Sabha / TsaqHT

2. State Legislative Assembly / Is faararaem

3. State Legislative Council / Tsg faurar aRwe

4, Vidhan Sabha / faemagsm

Correct Answer :-

« Rajya Sabha / TsaqaT

37) is a process by which the government sells their assets and hand over the management to the private sector. /

wF i § OEd @R R v §ufy dudt § iR seve # A dF # dlw &



1. Privatisation / fsftenzor

2. Liberalisation / SRIeOT

3. Public-private partnership / @dstfas fAsh smafery

4, Disinvestment / fafaaer

Correct Answer :-

« Disinvestment / fafarasr

38) means the price of product increases but the value of the product decreases. /_
&1 Aqe § F g 1 Hord 95 e § ARFT 3e9g F AP "E A g

1. Corruption / YPEIR

2. Inflation / FgTERFA
3. Hoarding / STAT@RY

4. Minimum Support Price / = FHIT HeI

Correct Answer :-

« Inflation / g

39) Vedas are also known as : / daf &1 gg Y Fgr omar &
1. Smriti / &

2. Nirukta / fa%®

3. Shruti / Hfd

4. Kalpa / @®eq

Correct Answer :-

« Shruti /

40) Who among the following is known as “the Architect of Indian Planning”? /
FrafafEa # @ B o diee & agER” & ¥ A e ar 2

1. Prasanta Chandra Mahalanobis / 9led eg FETaAITT

2. V'V Giri / & & @&

3.VKRVRao /& & 3R & 3@

4.R C Desai / 3R & ¢a1$

Correct Answer :-

« Prasanta Chandra Mahalanobis / 9eled =g HETo=AIST

41) Who delivered the famous speech "Tryst with Destiny" to the Indian Constituent Assembly? /
s wfaue g # wRgy s "Ree Rg 3Rl e R

1. K. M. Munshi / &.wa1. #2ft

2. Somnath Lahiri / STy oSt

3. Jawaharlal Nehru / SOl ol A&

4. Sarojini Naidu / STl A1Ig

Correct Answer :-
« Jawaharlal Nehru / STaTeR ol J6®

42) Who was the first Governor General of India? / ¥RT & Yger e} Slellel HiT 4?



1. Warren Hastings / aRal &Receqr
2. William Bentinck / fafogar dfew
3. Robert Clive / ¢ Feza

4. Lord Cornwallis / S dhieTariory

Correct Answer :-

o Warren Hastings / aRa cd

43) Who had started the magazine Jugantar? / Zaea (S[ANaR) TfHT 1 e fraa @ fi?
1. Veer Sarvarkar / @R HTeR&

2. Bhagat Singh / #91d R

3. B G Tilak / & St fees

4. Aurobindo Ghosh / 3Rfde &y

Correct Answer :-

« Aurobindo Ghosh/ 3Rfdg 8w

44) Who supplies coins in India? / #Ra & Rt v 3mqfd Sl wwar 82
1. Security Exchange Board of India / ¥R ufasfa fafasa &g

2. Commerce and Industry Ministry / arforsr 3iR 3@1er Fare

3. Ministry of Finance JACCR:EIGE]

4, Reserve Bank of India / IR R d

Correct Answer :-

« Ministry of Finance / fa=t #aera

45) The transfer of ownership, property or business from the government to the private sector is termed as .
&R § el a7 § FarfAed, 9o a1 Sa9w & §EaEor # g S B
1. Nationalization / ITSTaeRUT

2. Globalization / d#fraor
3. Privatisation / fAsfietor
4, Liberalization / 3GRI&R0

Correct Answer :-

o Privatisation / fasireor

46) The correct concept of evaluation reflects in: / W Fr FE rauren e # gRef@a @ 8 -

1. Diagnostic Evaluation + Formative Evaluation / &I Jedidh + JaTed® Gedidh
2. Summation Evaluation + Measurement / JRTcHD Hedidhed + HT

3. Measurement + Judgement / &0 + fAoiT

4. Tests + Examinations / TQ&T0T + GUI&T

Correct Answer :-

o Measurement + Judgement / AT + oy

47) The Social Science which draws its information from both natural sciences and social sciences is:
| wrierE faae S aigpfaw R st s e de F sraelt STeer aree @ @

1. Geography / &giret



2. Civics / aAmRes &

3. History / $faera

4. Political Science / Tifdl faTH

Correct Answer :-

« Geography / #giret

48) The term “laissez-faire” means_____ ./ esg “af¥ 97 (3wer Af) Fr1 aref & |
1. Less government intervention / & TXHRT FEAETT

2. Less market intervention / & STaIR §&d&IT

3. More market intervention / 3if9% ISR g&daTT

4. More government intervention / 3if% TSR TEA&TT
Correct Answer :-

« Less government intervention / & TRHNT TEAETT

49) The Great Bath structure was discovered in which city of Indus Valley Civilization? / fecFaamR (frener Fomerer) 1 @i Ry ardt weaen & e erew
g o€

1. Mohenjodaro / FigaAsgar

2. Lothal / &fvJer

3. Harappa / &3tdr

4, Dholavira / GTTERT

Correct Answer :-

o Mohenjodaro / Higasiear

50) Seasonal unemployment is a characteristic feature of ./ Atg s #1 v Favar g
1. Agriculture / Y

2. Service / &aT

3. Manufacturing / fafe&for

4, Industry / 3TT

Correct Answer :-

o Agriculture / HT&

51) When was the Constitution of India adopted? / Rd & WY FY Fa HIAAT IAT AT?
1. 26" January, 1951 / 26 FI=Fady, 1951

2. 26 January, 1950 / 26 Sfefay, 1950

3. 26th November, 1949 / 26 FdeR,1949

4. 26™ November, 1948 / 26 aay, 1948

Correct Answer :-

« 26" November, 1949 / 26 Aeax, 1949

52) Green Belt Movement is an environmental non-governmental organization. Focused on afforestation. Who initiated this movement? /
W A sfigia TP TafaRoiiy IR-IRBR W6+ g1 St 7 a-iewur iR $i%a 81 39 siigha &1 Yoaid fora= #1?
1. Shirin Ebadi / RR= wardr



2. Wangari Mathai / domdy #a1$
3. Helena Norberg / &oiam aAiast

4. Winona La Duke / fa=ieT o g%

Correct Answer :-

« Wangari Mathai / @9m #u$

53) Which ruler was described by Sir Huge Rose as ‘the best and bravest military leader of the rebel’?
| 9X &g O garT e a1 REE F1 gadss R wad gergy A Aar & v # aftta e ar?
1. Begum Hazrat Mahal / 39137 &oRd Fgdl

2. Rani Laxmi Bai / J= aigaly am$

3. Bahadur Shah Zafar / FBIGY 2AE STHY

4. Kunwar Singh / e &g

Correct Answer :-

« Rani Laxmi Bai / T=lt sigah ar$

54) Cape Agulhas makes the dividing point between which of the two oceans? /

9 wEw e @ ApeR & d e [g e 82

1. The Arctic Ocean and the Atlantic Ocean / 3Tfed FETINR 3R Sfedifess HENIR

2. The Atlantic Ocean and the Indian Ocean / 3feeiifice HERITR 3R &g AeRIR

3. The Pacific Ocean and the Atlantic Ocean / U=lid HENIITR 3R 3fceiicd HBTENR

4. The Indian Ocean and the Pacific Ocean / f&e HEMITR 3R UIid HERITR

Correct Answer :-

« The Atlantic Ocean and the Indian Ocean / 3fcelife® HEMTR SIR fég HEMFR

55) How long did the Challenger Expedition last? / 3eieR 3iffaer fhaa ¥\ a& Tar?
1. Four years / 9R a§

2. Five years / oig a§

3. 18 months / 18 g

4. two years /& a¥

Correct Answer :-

« Four years /9R a¥

56) Which is the largest fresh water lake in the world by volume of water?/
S F A F fwE § gforar A waw 99 Ao aeh B e Fa @ 2

1. Lake Michigan / f&fRwra girer

2. Lake Malawi / @TelraY sfter

3. Lake Baikal / drer sfter

4. Great Bear Lake / 9T aa% &far

Correct Answer :-

 Lake Baikal / d@rer siter



In which of the following seasons, brief squalls and thunderstorms known as Kalbaisakhi, or Nor’westers, often occur? / fw=faf@a & ¥ fFw atas
#, FrerdurEl a1 AQRTEE F T H T S qS B o AR el e areh weh 82

1. Early winter / g&3meht aféat
2. Early summer / &3t aifdai #
3. Rainy Season / aiiker & #taar 3
4, Late winter / a1¢ & @féat &

Correct Answer :-

« Early winter / wame @féat &

58) Which among the following country is also known as the last remnant of the former Papal States? /
i & ¥ 5 Ar # ¢F I9a Vew F 37 3@y F 7 & oft e amar §2

1. San Marino / 3= &=t

2. Vatican City / afeewa R

3. Monaco / &t

4. Malta / #ATeer

Correct Answer :-

« Vatican City / afesa Ry

59) Which among the following country is considered to be the Origin of Coffee Plant? /
RERf@T & @ & qu F FO F 9l F FET AT A« E?

1. Vietnam / fagaamst
2. Peru / 9%

3. Ethiopia / 3fa=nf=ar
4. Brazil / smeiter
Correct Answer :-

« Ethiopia / sfa=nf=r

60) Who helped in taking transformative steps in India’s foreign policy and persisted in making peace with Pakistan emphasizing that a state can
choose its friends but not its neighbors? /

e s Y e A F aRadT R Fear 3o # Ferar f A afhEaE F T iy FAC @A W SR & g FEr B oF ToF A9 el F g Fvell
¢ e v wRREt @ adi?

1. V.P. Singh / dv.d1. fig

2. LK. Gujral / 31$.&.9=0e

3. LK.Advani / vel. &. 3msamft

4. Atal Bihari Vajpayee / el R aready
Correct Answer :-

« Atal Bihari Vajpayee / 3icel Rl arsidy



